FHBE10R14BDFE IO FT VAL AR D FA IR

AEOFHHGEELR
= SULVET )T

22 3 2
AEOFHEGEHEEHROANE
(1) B3l
Bt it ZDith

22 13 0
(2) FEK£H
XMER 10K 101€

1 1 10
601t 704% 801t

4 0 0
(3) T ETHT Al
SULV=FET 3 EHEE™
N 2 EARTH
AT 1 F0kemh
mow 5 $EET
THET™H 0 #@ITh
BmRh 0 AEM
iR 3 k&M
fRaE 0 /J\#ith
fnZE™h 0ELTR™
AREM 0 =4Bh
Bt 0 &M
EBEmH 13RFE™
s iG] 0 =Fh
PAET 0 #8x BT
JBEH 0 BHE™
EZaTh 2 FHth
LE™ 0 S\CHFH
Bt 0 BE™
HMah 2 {REHT
BrT 0 =35HT
FHET 0 £ & LHET
AR 4 AT

AT
3 5

301%
3 8
1004%
0 0

1 81187
0 = ILHET
0 /[NJIHT

1)1 ST
0 HRHET
0 hELIET
0 LENDHE
0 H& AT
0 5 EFHT
2 RimHET
0 /NEEEFHT
0 BHERH
0 XEHm
0 41| BT
0 LB

0 Z/EHT
1 ECHET
0 &2 FHT
0 #MKHET
0 B4t

0 SAEDE
0

H(ER)
35

3

0

ONOOOOODUIOO0OO0ODO0OO0ODO0OOO0OOO0OOO0OO0O

5

0L L REPFHF

0



